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2012 Middle Primary Division Second Round Solution

1. Because86=10x 8+ 6= 2x 4 6 38 2 26 40 2 6 80+1, the
remainder is6. So 30 cannot be the value of the quotient.
Answer: (C)

2. The sum of numbers of 14 athletes is 1+2+3#13+14=105, and 105100=5.
That is, this extra 5 is Edmond’s number.
Answer: (A)

3. Arrange a gift and a gift box in pairs, there ameo@dition: (30, 20), (30, 50), (30,
80), (60, 20), (60, 50), (60, 80), (90, 20), (90),590, 80). The sums of two
numbers in parentheses are 50, 80, 110, 80, 100,110, 140, 170. So there are
totally 5 different possible prices: 50, 80, 1180,1170.

Answer: (B)

4. The perimeter of (A) is longer than the originakpthat of (B) is equal to the
original one; that of (C) is longer than the orgjione; that of (D) is longer than
the original one; that of (E) is shorter than thigioal one.

(A)j (B>1 (C>m (D>m (E)]

So we choose (B).

Answer: (B)

5. If the man does not stand upside down, he sho@d88¢ in the mirror. If he
doesn't see the number in the mirror, he shouldsH#6. Hence, the number on
the shirt is 50086.

Answer: (C)

6. Assume that the weight of box B is 1 unit, than wetght of box A is 4 units.
That is, the weight of box A is 3 units more thax 8. Hence, 3 units are equal
to 12 kilograms, 1 unit is equal to 12+3=4 kilogsar&o the weight of box A is
4x4=16 kilograms.

Answer: 16 kg

7. If we want to know Mark’s average speed, we shduid out how long he
walked and how long he spent. The distance he watkiotally 3000 x 2 = 6000
meters. The time he spent from home to the pa3R@® + 100 = 30 minutes; that
of he spent from the park to home is 3000 + 15®@ #nihutes, totally 30 + 20 =
50 minutes. So Mark’s average speed is 6000 + 5P0-meters per minute.

Answer: 120 m per minutes

8. If we want to find out the smallest three-digit ruen the hundreds digit should
be as small as possible, so the second card sheydthced on the left side. The
numbers correspond to 1 are 8 and 9. To get théesnthree-digit number, the
tens digit should be smaller than the single dig§w. the third card is in the
middle, and the first card is on the right sidenkks the smallest number we get
is 189.

Answer: 189



9. The shaded area consists of 16 triangles, whiclegual to
8 squares, and 7 squares. So there are 8 + 7 guHbes
are colored. That is, the shaded area is 15 cm

Answer: 15 cnf

10. Notice that the water in the left cylinder is 99600 = 300 ml milliliters more

than the right that in the right one, so we shquddr 300 + 2 = 150 milliliters
into the right cylinder.

900ml 900ml

600ml

600ml

300ml 300ml

Answer: 150 ml

11. Observe that the denominators are all 40. Whendae2ao the numerator, the
fraction becomes 0.05 larger than the original &szause 27 is 2 smaller than
29, the result should 0.05 smaller than 0.725,ifh&.675.
Answer: 0.675

12. [Solution 1] We can get 2 strands of rope when folding for ame;t4 strands
of rope when folding for two times; 8 strands opeowhen folding for three
times; 16 strands of rope when folding for fourésn32 strands of rope when
folding for five times. If we cut the rope in hatvafter folding five times, the
rope will be cut at 32 different places. Thatisyill separate into 33 pieces.

[ Solution 2] the pieces we get when cutting in halves afterimgidor several
times have the rule as follow:

Cut the rope in halves after folding for 1 time, widl get 2"+ 1= 3 pieces;

Cut the rope in halves after folding for 2 time, wiél get 2°+1= 5 pieces;

Cut the rope in halves after folding for 3 time, wiél get 2° +1= 9 pieces;

Cut the rope in halves after folding for 4 time, widl get 2* +1=17 pieces;
Cut the rope in halves after folding for 5 time, widl get 2° +1=33 pieces.

Answer: 33 pieces

13. [Solution 1] Ben was (6-4)x2=4 km behind Andy when he rode on the bike,
SO it took him 4(10—6)= 1 to catch up with Andy. At the same time, they
arrived at town B together. Therefore, it took Ar8lfiours to arrive town B from
town A. Then, the distance between two towns<i=3.8 km.

[ Solution 2] Assume that it took Behhours to arrive town B after starting to
ride the bike, so
2x4+10=2x 6+ 6,t=1.
Therefore, the distance between town A and tBus 2x 4+ 10x 1= 1&km.
Answer: 18 km



14. If we want to know the minimum total value, Jeroam& Roberta should both

15.

have 1-dollar coin. Hence, Jerome has 4 dollarbeRa has 3 dollar$s marks)

However, from the problem we know that Jerome'sihg are 3 dollars less than

Roberta’s 3 coins, and there are only two differeinds among these coins.

Assume that the coins Roberta has are all 2-dalan he has 6 dollars, while

his money is only 2 dollars more than Jerome’sR8berta must have a 5-dollar

coin and two 1-dollar coing10 marks)

Hence, their minimum total valueis5+ 1 + 1 + 4 = 11 dollars(5 marks)
Answer: 11 dollars

[ Marking Schemg

Only exact solution without the solving processyarks.

Because we will use at most two pieces of squar2 ah when making paper
which length is 5 cm and width is 3 cm, so we tilm@ problem into several cases:
(5 marks)

(Case D There is only 1 way if we use only squares of 1 gimmarks)

(Case 2 We use one piece of square of 2 cm. Accordinheasyymmetry,
there are 2 ways to make the papg&mmarks)

(Case 3 We use two pieces of squares of 2 cm. Accordirthecsymmetry,
there are 4 ways to make the pag&mmarks)

To sum up, there are 7 different ways.
Answer: 7 ways
[ Marking Schemg
5 marks for finding out that at most 2 pieces afags of 2 cm, and turning the
problem into different cases by pieces of squaf@sim.
5 marks for each exactly discussion of situation;
Only exact solution without the solving processyarks.



